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po = dmrp3 Inl + (rp/rs)3] — (ra/rs)3/[1 + (rn/7s)3] ®)




goond

0000000000000 G=10001x10"°M,000 1kpcO00OO0O0D0O00ODO
000000 4.7Myr0000000Or,/rs =5000000000 OMyz=3.180h =4.30
20 =030 M, =63.670r, =121.70000

ooooogooog N =3,000,000000000000000 ScrognoooonoOo
ODoOoOoOooscrooboboOoooooon

prmn(R, &, 2) = RJm(kR)eim%z exp(—Fk|z — h)) (4)

Dmn(R, ¢, 2) = —%Jm(kR)eim¢(1 + k|z — h|) exp(—k|z — h) (5)

0000000000 J,(x)0 Bessel DO OO0 ODO0DOODO0OO0OOODOOOOOOOO
000 200000000000 000000000000000 nmax=6400000
O mmax = 240200 1 =24 000000000 0500000000000000
ASURADO00O0OO0DOODOODOOOO0OOOO Osoftening length 0.010 opening angle
0500000

3 0o

01000000000000DO00O0SCFO00DOOoOOobOO0ooobooooDooon
gbboooboobobobobbooobbboooooboboboooboo

(a) SCF simulation

wwwwwwwwwwwwwwwwwwwww

\\\\\\\\\

\\\\\\\\\\\\\\

=110 =530 =960

0 1: SCFO ()00 00000 (h)DOODOODODO0DO0DO0DOODOODOOOO

02000 (¢=0)000 (¢t=530)000 (¢+=90)0 000000000000 20
0000000000 0000000 2000 root-mean-square 01 000 00SCFODO
O00softening0d 0000 R=00000000000000000 00000 softening
oobo0d R=0000000O0DL0OO0OO0OOO0O0O0O0Ot=0000000O00OOODOOn
OO0 SCrO000O00o0O00O0ODDOO00D0DODO0O0D0O0D0ODDzO0O000000000
ggodoooboooobbboboobb 3soobobbooboboboobooobo
gboboboooooboooboooooooooboooooo



045 e r T T

T t=110 %

03 bbb d ol b di o d
0 5 10 15 20 5 10 15 20 5 10 15 20

E =530 I =740 T =960
RN SRNTY SRRRH FNNTs s ANRE ENNNE ERRNI NN s NENE ARRNE NRREE ARAES
0 5 10 15 20 5 10 15 20 5 10 15 20

R R R

U2 000000000000000 200 03 0000ooooooooon
000000 (a)000000000 000 000000 root-mean-square 0 0 O O
root-mean-square 0 O (b)0

03 T

040000 (¢=960)0 05 0000 (=90)0000000000000
ooooboooooon 00000 Fourier 00O (I,,) 0000
ooogoooon

0400000000000C0O000OOCOODOODOOODOODDOODODO SCFOO
gboooooobooobobooobog

Os5000000000000000000000O FourierJOOoooooooooOO
O00 Fourier 0O00ODO0OODOOOCOOOOOOOSCFO0OO 300000000000
ooooboooouoboobobOoDbbo 100 scroooboooo sbboooboDoDbo

4 00O

O0oooooboooooooooooo scrobobOoOooooDOobO 30ooooo
0000000000000 0000000000000000000t=960(4.5Gyr) O
gboooooooooooooboobb -0000000000000000O00 Fourier
uboboooboboobuodoouoooooooboboboobooooobooboooboo
000000000000 oOoOOobDDObOODOobObOObOOODbDOOODOOnOSCrOOO
gooobooooobooobooobooooDooo

gboobboooboboboobooobooobboobbbobobooboooooy
000000 SCFODOOOOOODOOoD



